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1. dpsaraoucupper g sflurs QurpssLul Heteng: 2

A)
B)
Q)
D)

UTSCarav ey -
L AT (M —
yrra‘uerﬁ]@mms&r | —
BBusss swadi —

@lene SH&ESD
2ty
apeflare sietey

eoLiedt Qomedt.

Which of the following is correctly matched ?

A)
B)
C)
D)

sy (A)

Orthostichies —_
Totipotent —
Fasciation ' —

Bilateral symmetry —

SPpsacdo. aursdunsend seaef :

QeuefiGuhmib.

ergemtd (R): ghedgeehaser

Phyllotaxy
Turgid
Photoperiodism

Pine cone.

SesoLmrgsrallés 2 ater epuTen arfluener Quaely ghedgisersanen

st 2 Qers wrsUTLLT®  HBHHeTen

Gpoa_oismen syflédatpe.

SCp Qar@Psaiu eren @liRser aped sflurer alloLmug Carhbie(ss :

A)

B)

&)
D)

Consider the following statements :

Reason (R) :

{A) seumy, e (R) el
(A) wppb (R) &f
(A) whmd (R) peup

(R} af, e (A) ereiig shwrer edlen&&weven.

- pollution.

Assertion (A) : " Mount Rebus Volcano { Antarctica ) sprays fine gold particles.
Gold particles destroy the ecosystems nearby due to heavy metal

Now select your answer ‘according to the coding scheme given below :

A}
B)
Q)
D)

{A) is false, but (R} is truc
Both (A) and (R) are true
Both (A) and (R) are false

(R} is true, but (A} is not the correct statement.

.19000[ { Turn over
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PGBO 4
3. @Quaebd srmél'_grreév e,l._é‘.él eTesTLIg)

L )60 60T sra'srsu)s;'um— Q

II. el GLagCymb - C

. el GLreCrmbd — B

V. e CLrglymbd - a

@eupgysh
Al Topod IV . B) Tuppdll
C)  1wpmybd III D) Il wpgd IV.

Which of the following have been called as mobile electron carriers ?
L Coenzyme -Q
. Cytochrome-C
III. Cytochrome - B

Iv. Cytochrome - a.

Of these |

A) Iand IV ‘ B) Tandll
C) Iand HI D) IfandIV.

4. sreghseié sper urduf syaigderlurg aaslgrar afHdnbe Qub&u@é\m@ 7
A} H,O0 B) H,S
Q) H,0, : D) D,O.
In the non-cyclic photophosphorylation of plants, the electron donor is
A H,O | B) H,S
C) H,O, : D) D,O.
5. C,eappdller CGurg Spsaeiullperer CaudluQurmerse gm @RUN L syredf
aflmsde 2 aLrdlpg. sflurer aflensaou Cais. |
A) RuBP - PGA — PGAL — DHAP
B) RuBP > PGAL‘ — PGA - DHAP
C)  RuBP - fleoawhp 6 ariue wpaksngy Gsmwb — PGAL — PGA

D)  RuBP - fleeuwhn 6 smius epadsan Gefob — PGA — PGAL.

{1g03) . [19000]
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5 PGBO
During C , cycle the following chemicals are formed in a sequential manner, '
Choose the correct sequence of convérélon as given below : |

A) RuBP -3 PGA — PGAL -» DHAP

B) RuBP -» PGAL - PGA — DHAP

. Q) RuBP — an unstabie C6 compound — PGAL — PGA

DI RuBP — an unstable C6 compound — PGA — PGAL.

én:.'_@&r}rrerﬂuﬂsér dessgddar arsssdlar Qurps wdlullsr sgref . Gy

S p&HeULHID
A)  wEpuTE Bl qpupsowwres alewssb
€  dlialeésd D) sal(hegrafl aless.

The average of the sum of squares of thc; deviation about mean is called
A varlance o .B] absolute deviation

C) standard deviation D} mean deviation.
Cagulemauuiien eﬂ‘cu&qgw_r, Camemieus THENMT

A yoer (urd ) B) g,@em&

0 ssvdyr D) Qum@surrr@u;urrqrr.

Red rust of tea is caused by

A)  Algae B)  Fung

C) Cuscuta D) Balanophora.

Begdle erpeime erplrge hanaiu@dssiuGing

) elemGrreouedCu : B) GuGureuedGu

C) WBDéavCenmenuediGu ‘ D) ng(ﬁ;.r;mua&@m.
Nitrogen fixation in soil is caused by

A) Chlorophyceae B) Phaeophyceae

-C) Myxophyceae D} Rhodophyceae.

18000 - : ‘ [ Tum over
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‘9.

10,

11.

2 Wifler Coupum e, uhflu EibHu s b poL(ponde s;.@g 24 GoT(H)

A) 2003 B) 2001

C) 2002 D) 2004. |

National Biodiversity Act of India comes into effect in the year

A 2003 B 2001

C) 2002 : ‘D) 2004.

e_fles LU B fal' Lo QIO cUSLTSHaD sapeurid

A) CBD : B) e.ffler sal Leoioliy

C) 2 e& srluawly ‘ D)  AGur sdeg errg sbifll.
Convention on Biological Diversity is also called

A) CBD ' B) Bio}q_gical Convention
C), Global Conservation . D). Rio or Earth Summit. ' ,
ueste () wesily whpd 2 Wit LT e Hapsflou TodiEss

A)  UNEP - B WTO

C) UNESCO : D} FAO.

International Man and Biosphere Program is initiated by

A} = UNEP B) wWTO

C) UNESCO ' D} FAO.

12, Geut wao( 2 BauThesHDe LWETLEHD gy &y CaTawll Yehos

A)  egGamiwb : B) Jdgrerdlur

C)  GeGLmursi it | D) @mm _aqslmsmﬁgnb.
Actinomycete genus used fo m&uce nodule formation |

A)  Rhizobium - | B) Frankia

C) Azotobacter D) all of these.
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14.

. 15.

16.

7

Agrb erw urdeRuraler Gad seauflé 2 efer Qe

A) Quitig G flemenamedt B) G\&G'\@j@e\arr&u ‘
0 Qand GeagCersy D) eage.

The cell wall of gram positive bacteria shows |

A) Peptidoglycan ' ~ B)  Cellulose

Q) Hemicellulose D) Chitin.
LGrGefGur. Qaeler GBrmQurGsmble o steng

A} qmlenGu e B) aflenGLren Sipma
C) efleugqugedr lD] -@lea SenaTSgIb..
Prokaryotic chromosome contains

A)  histone ‘ B) non-histone

C) histidine ‘ ‘ D)  all of these.

2 885 D6Tey s-ra'srug @ee B3 ahs allearenayd gHuBSSTE ?

A) &Une{rﬂ B) @eLflew

C) Ouese syraf D) @we symel.
Extreme value has no effect on '

A) ' Average B) Median

C) | Geometric mean D) Harmonic mean.

WetrareL. alwéhe LGLumuey LweTuBag

A ubnp) GeL Qs faseps GODESN

B) . emiyew wriied serali el et wdulp Gl

C) o peoLpeonsailar o @maiowre alameTanald &eoorL g6
D) | Blevau et HEib.

Regression analysis can be used for

A) reducing the length of confidence interval

B) for i)redlctlon of dependent variate value

C)  to know the true effect of certain treatment

D)  all of these. |

PGBO
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17.  wrgfl asdrug

A)
B)
C)
D)

@egGigrenadics 2 eem eréveuT SEEGHEHD
Qerso\grasdiss 50% @ sel

Bl grensids 5% S @ael
Qeraograadis gGsamib o Netarb.

A sample consists of

A)
C)

all units of population B)

5% units of population D)

18.  Sblepeudledr sl eren@LUWT CLimyeus

A)
C)

et &Blueor B)
GG e D)

Brewer’s yeast is named

A)
C}

Mansemula B}

Rhodotomla ' - D)

50% units of population

any fraction of population.

s &anCyremwedley

UIT &@&eolT emeviyeiy.

Saccharomyces

Baculo virus.

19. @pduraller BauGufiu Qeidgarer Qs fipsramen Hyawbgerer @)L b

A)
C)

widu IrCgein B)

24bgly dyGgeid - D

2 g8l JyCpen
Smewmaa UpCae.

Largest Newspaper Industry in India is located at

A}
C)

Madhya Pradesh B)
Andhra Pradesh D)

[4

20. Guéegyd uenauSiesr (y)G\)L'JG]l:llT(I_}}.GI’r eredenT 7

A}
B)
Q)
D)

S(HiDL} &T&H&HeoT
2Baaflur ApPargder SrmIs Laes
gérev sLGUTL Lmellét Gabl&eav

By er Spdergdler e,

What is the source of chewing gum ?

A)

C)

[1803]

Sugar from sugarcane B)

Latex from Achrus sapota D)

13000

Uttar Pradesh

Arunachal Pradesh.

Gum arabic from Acacia spp.

Fluid from Musa spp.

[
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22.

' glub @HNBHe OupLLERDE

A sTips Ge@asd B)
0 sallurg srudly e Cabl & D)

Opi_urri is obtained from

A)  dried leaves B)
'C) latex from unripe capsu;es D)

OTU ereiiug

A)  cosuTETUURID eUsHHLTLIGWE B6vG &6

B) G\g,rﬂa;' DTG OGS T

O oy 2 mompp seesst

D) smss QuUuisd S@GssT.

t

23.

OTU is

A) Operationa} Taxononic Units .B)
iC) Opcn Transformic Units D)
yobulL. Gressr rbilene euertédluller .........
g.fj)mg)aséﬁ STOTLLREDS. ‘

A) QarGLmaoiléuenld B)
C) i- GuuGrmblwr D)

A

Duﬁng anomalous secondary growth

vascular bundies.
Ceratophyllum

C) Peperomia

ooooooooooooooooooooo

PGBO

Qeur mei.

allemg eURISSHUILIL L emeu.

roots

seeds that are fried.

Optional Transgenic Units

Opinion Transition Units.

gy Flgdlu eurev@errt

gmeveu@mym
GurwiGameilwr.

stem shows scattered

Salvodora

Boerhaavia.

[ Turn over
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24. syew sleL LI‘UJGI')TLJ@QJQJ
A) 2 evaluThaneT Sl Sgeug B) erGphoo
C) . segse gLib D) sugucﬁ]@m QaTug.
Heart wood helps in ’
A) translocation of food material " B} ascentof sap
C) circulation of solutes -D) mechanical support.
25, smammgu b &phé Cebaeng Bdeurny e psdCprid 2
A  QegGuanGLayer - ' B) ol fcofCaaye
G  @eredanCrayeit D} SHOGUT g .
Recycling of glass is -known as .
A)  Sedimentation ] B) Vitrification
C} Incineration | D) Composting.
26. sréeLuligsed plualuabs S 2 STYEID
A) sl Hpsnsamen Hipalh Sgsse
B) ey fge
C) vy 2-7b gurflpsa
D)  sgeply Speé Q&u.!g,s\)
An example for sustainable technology is
A) Poaching B) Incineration
C)  Vermicomposting ) D) Retting. |
27. daaL euré QuTETHID GTHGSEHHESL QUi Qupp @)L
A) | GouLpgmhiges FyesTTeD B) oGurat aerallebigs aJeRtmewd
C)  arflgher Cadlu yhar D) wremev Yot Gawaib.
Golden Langur is the major wildlife of _
A)  Vedanthangal Sanctuary B) Abohar Wildlife Sanctuary
_C) Kaziranga National Park D)  Manas Tiger Reserve.
1903
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30.

11 | | , PGBO
S cuentHHey eretLig) |
Al smgder ugdde LIRGHEET QeSS
B)  sifisiucL sr@esie opismen Hpbusd pOs
C) gpaale 2 eren ar@aefleNmba wrhsamen s{uqmgu@&,g}gé{
D) &wg-qgmm DIEBeTS S HHST s;)mgﬁu_r,g,gsb. |
Afférestatjon means |
Aj growing trees in new non-forest area
B) replanting of plant in destnoycdfbrést '
C)  removal of trees from the existing forests
Dj (gontrol of forest trees.
uréedurésefie Slef wrHphiser g{qé&q}&nmdu@mgfj}&,nm STTOTD
Al Sy &mmu@glc‘u B)  semeusmel ngmr_pmmmrrmsmm
C)- S{euseh @7_emLtdwini eot aneul D) - Sjeeusme Qweﬁnﬁl&&mm.
Mutations are e;cpressed more frequently in bacteria bgqq_use they
A) divide often ' B) - are hapjioiq
C) are diploid | - D) are competént.
&rid .e%r'r.éra‘n g-alé smg'(.‘;un@sr;'m Gleoeyb @b
Al ooayen Lnd;&&@ssrw aflana & Elywod B) _ m,(Bsu-;rL-&tur'r
C)  guer figidnCrd . o D} ot euflevasdljon
The ribosome binding site on the mRNA is the |
A}  Shine Dalgarno sequence B) Telomere
C) | Open reading frame.: ' D) Leader s,equcnc;:e.

o [ Turn over
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31.

32.

33.

q@GULLe'm eTeiTLIg)

A) ollf 2 g B) o2 fitQamrded

C) &menmedt D) unél.

Pleurotus is an example of

A) Biofertilizer _ B) Biopesticide

C) Mushroom D) Algae.

QL ré dlyeugdlen Lwest

A povgpdt ged Bl sflapsd

C) . afit yeoy weEbHe D) Qgrpo Béd.

Dettol is a substance usgd as

A) sterilarnit B) sanitiser

C) antiseptic D]}  disinfectant.

DCanrevQuiflen @enaupgamentla setigseiann

A) ey @.:t,:ﬁluihs'{J LB hE 2 erarg)

B) geveo Qenevpgiemnen Glacismel

C} aruy Qedede Qaaaafled dlisaldr G

D) ariy Qsé whmd g Geeggoda Qenadlldar fleo uegdad Naafla
20y HreiuGEDg .

The characteristic feature of the stomata in gymnosperms is

A) that they are deeply sunken in pits

B}  that they are subsidiary cells

C)} that the walls of the guard cells are completely free of lignin

D) that the walls of the guard cells and subsidiary cells are partly free of
lignin, '
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35.
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SpsedL arsHuiisans s ;

amhn (A) : o e geury euent gadbdlullett gememeu ( PGR level } ‘&au.@ﬂu@{r;g;cn
allong 2 Wt mbsLTATE FTANSHOE HUWHSHOE EUTTIR
HTHGSEmG L aAgwre eGP,

sryewin  (R]: c:.ﬂsmg HTLESH a&TuUl SEHo ughsFias Frugh olswores

- S 5&FDE.

&Qp Cerpssiuferen GPuRss aped sflurer allesows CatbCs@ss :

A) (A vimpd (R GG #f, Cogubd (R} erétug (A) elhe sPurer eleréesb

B)  (A) whmd (R) @resor@id s, Gueyd [R) aeug (A) alhe érﬂulrsm allen&eaindoey

C)  (A) edl, yyemmev (R) geupy |

D) (A) seum, peamén (R) &f.

Consider the following statements : '

Assertion (A): Seed priming regulates the endogenous PGR level and by this a
plant is made tolerant to handle stress.

Reason (R):  Transient drying makes the embryo drought hardy.

Now select your answer according to the coding scheme given bc}dw :

A)  Both (A) and (R) are true and (R} is the correct explanation of (A)

B)  Both (A) and (R) are true, but (R) is not the corréct explanation of (A) .
C)  {A)is true, but (R} is false

- D}  (Alis false, but (R) is true,

wery sryaxflast sasedGUTE @5@& Brenh GnsLaGt wrhHphaeTTaE g

gdiuniss ereaal GoparsGa: 2 eareng. garafie

A)  wglt mﬁ@g,é\r HHL B} &nsdisd

. C) erdhr oD GNEER D) CGprvenp @RiHsE.

In three factor crosses when observed double cross-over frequency is less than

. expected double cross-over frequency. It i$ because of

A) Cross-over suppressor B) interference

C)  negative interference D)  positive interference.
C [ Turn over
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36.

37.

38.

(X, Y)eaaug o6 @(r_r, wrfldle Gerdr Gsriiupp Wi wrfdiurs
RimhaTed X~ Ygagde Qg adsas0ardiend seraifaem et

4)  aumyUEDUDHD B) cueajuenp teLw
C) eapgeen enaifeGergyd D) @eupper sgapbdae.

If ( X, Y) is a bivariate discrete random variable, the number values which
( X, Y) can take in X - Y plane are

A infinite | B) finite

C)  any number of values ' D} none of these.

su@L et ev-t whpid Furaigide GeoGu o_srer Q@i iy

A) F1.1=.tﬁ - B) Fn.lft? _

o t2=F,, _ D) Qeubpst agapbaae.
The relation between Student's t and F-distribution is

A) F1.1=t2 .B), Fn.lxt?

C) t,=F D) none of these.
2 0If 2 gurs LweETLHuE g

A)  prevLré : B}  sevurigldveusiy

C) Gaengim - D}  e&srGymenwedlen.

Which is used as a Biofertilizer ?
A) Nostoc B} Aspergillus

C) Candida D) Saccharomyces.

39. fgro smub g (B s

A} ebep sTwd B} sruQubersa

C)  Geoumn’t emwid D) ghep Bip eefl smwb.
Gram stain is a kind of

A) single staining B} negati\.re sta_.ln.lng

C) differential staining | A D)} monochrome staining.
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40. Qsupers allewgas gurféagb Weopaw sflurs surﬂém&fju@&.gjsa :
i, smedenes Ca { NO ), & 30 Bl Guriayb
H. | dleeuentiy ear sgdle Curdl a@bsamen 2 pusd Glal
.  s@méseaner 2% Comguid HoNCar e sessab

IV, peiQeun@ smad wemhe@hs@e GPprul @ @@é)@tb.

@eubguet :
A LI T opgid IV B) L IL IV wpgyo I
C} ILIN IVopgihdl | D) I I, IV wppo 11

In the production of encapsulated seeds, identify the correct order of steps to be
followed :

I.  Drop embryos in Ca ( NO ;) solution for 30 minutes
IL. Induce pseudoembryos from cell suspension culture
I, Mix embryos in 2% sodium alginate

IV.  Individual embryo is enclosed into beads.

Of these
Al ILILI&IV ' Bl LI IV&I
C  ILULIV&I D) ILLIV&IL

41. @c&r%&ﬂuﬂfﬂme&sﬁn sheg
A) grufl. Caré B) eiruQL_ﬁJam'r
C) el L e eureln eSeush Qs D) 4.8} Qanyrent.
Father of Microbiology is
A) Robert Koch B) Stanier
C) Anton von Leeuwenhoek D} H. G. Khorana.

1903 [ Turn over
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Fpsbaaor eurbdlunisamend seuall

Gnibmy (A) o udifiGipdp ésre RO WODHS PHEl aUTTS

- arpesid (R} @ @bs wpeon 2 liflu udeuenaawenu yNsdlsing.

FCyp Qar@ssiiBetenr gHSGeer apevd sflurer elleowug CarbeHés :

43.

A) (A} efl, guemmen (R} seugy

B) (A sap, e (R) efl. ‘

C) (A wppd (R) Bira@n s, Gueub (R) erdtug (A) elpe sfure eﬁlmé&mém
D) (A wpmun (RY &fl.

Constder the following statements :

Assertion (A) : ‘Uhum’ cultivation is a practice that does not suit the present
times.

Reason (R):  This practice leads to the devastation of the biodivefsity.

Now select your answer according to the coding scheme given below :

A) (A) is true, but (R) is false |

B} | (A} is false, but (R} is true

C) Both (A)and (R) are true, but (R} is not the correct explanation of (A}

D) Both (A} and (R) are true.

utquwée I g ulgue Mo dr Qurpsd, 8 Gar@asin e GHliRsamers
Qerao® sflurer aloL.ous Carbos® |

ulgqué I ucgwe II
a) egny Hleb 1. i Cahdlw Frdeuid
b) S 2.  QupelTenpwmest FHBHM
c) Qumbreatipmeii. 3. ugd deoshs g.rrsurjo Qs
d uré 4, plaeurs 2 onhs LWwes
ePIDsst : |
a b c d
A) 2 1 3 4 .
B) 4 1 3 4
C) 3 4 1 2
D) 1 3 4 2.



A)
B)

C)

D)

A)

B)

C)

D)

A)

C)

B)

below :

List 1
a) Marsh
b] Peat
c) Permaffosf__

d) Bog

Codes :

)
o

bo
[y

4
3 4

1 3

NG ECHmooemL Hsmer

W W

4

< fren s Gardoenul. Has

o GeursoenuL_His e

&mipGiom soemLIL- (Rl

Lithophytes
Oxylophytes
HélQphytes

Psammop_hytgs

17

Ll

d
4
4
2
2

PGBO

Match List I'correctly with List: H and select your. answer using the codes given

List II
Waterlogged wet land
Soft wet:ground
Parﬂy_décgyed plant mz_a.terlal

Permanenﬂj'r; frozen soil.

::_' . 44, Sereumeusteubpiel GTQJI sflurs Quwggbﬁqmsng 7

Spfler wedor

26Ul L_nq;_&cf

LT e p &l
LDGOOTHL RGT 60T LDEB0T. -

Which of the -following is correctly. matched.?

Acidic soils
‘Saline sofls

Rocks

- Sandy sotls.

{ Turm over
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45. ulgué I @ uigue M2 L& Quiesd, £8p Qarfasiul sien @BlUGsmens

Qarem@ eflures el sows Caina® :

urigwé I

250G AL&Cen

enrev@Gwen

. ereuL@ry et

anev@aeh

S

1

LT V- B -

4

1.

1
2
3.

urgwe II _
2 Qpngd Gaitboadg ATP
Cgemautiu@éng
3 5ol CaTpp-Gopsse alener
GonHssn whnd Crisse Guullaer
Qared wrbp allemes.

Match List 1 correctly with List Il and select your answer using the codes given

a)
b)
c)
d)
@D sen :
a
A) '2
B) 2
C) 2
D 2
below :
a}
b)
c)
d)
Codes :
a
A) 2
B) 2
C} 2
D) 2
1803

List I

Oxidoreductases

Lyases

Transferases

Ligases

- W

1]

B

List II

Synthesis by condensation of
2 groups of requiring ATP
Oxidation-Reduction reactions

Addition or loss of groups to double
bond

Group transfer reactions.
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46. aﬁ’é&msﬂum aursdluhiGenerd seueth

wbp (A) gl sdssdom soedd sl GUUGEEADE

anyexd (R) : gragsder cent pefdled o arer @etCLré® s fleabd mpef

2besdes aeisflee LusLEADg.

&0 Qer@saiu’Geier UGt apad sflure aloLoug CoibOshss :

A) (A vppd (R) Grean®id fl, Gogud (R) eratug (A) oflpe eflure aflersanese

B (A vhpw (R) gaiy |

C) (A vhpd (R) Goador@in s, Cuanid (R) arestug (A) alivg sflurar allerésn

D) (A) seup, syemre (R) afl.

Consider the following statements :

Assertion (A) © Apical dominance is controlled by Auxin.

Reason (R): In plants Indole Acetic Acid ( IAA ) produced in the apical region
promotes apical meristematic growth.

Now select your answer according to the coding scheme given below :
A) Both {A) and (R} are true, but (R} is not the correct explanation of (A)
B) Both (A) and (R) are false
C) Both (A} and '(R) are true and (R) is the correct explanation of (A).
D} - Als false, but (R) is the correct explanation of (A).
47. app HioGaimevOuitid 2 wihg whpib Heoende wieuams STHbHE
A) NS SHITEV B}' ENLIETT L
C) ©s&Gsmur D) Gl rQe@smwr.
Which gymnosperm is a tall and branched tree ?
A) Cycas . B) Pinus

C) Sequoia . D)  Metasequoia.

. [F 70?' ‘ [1903] 18000 { Turn over
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48. Sp&Heco eI HEGE STEMTEITGD

Al erhsev B)  wefllcm
Q) yfleQCeantlur. D) JeflCym_ev.
E Which one is a poisonous mushroom ?

A)  Agaricus © B} Amanita

C) Auricularia D}  PRleurotus.

49. gen uaoy AaCc dlgyeien A wpmd C gj’s&r udmset aafld Goeanbs abs
oNflgrasmgsdle agsmen cumswures Call Goen daL &@b 7
A suflocubp aldgrerysdlé, Bimeums et |
B) sufloe alfigrerysdld, Queucsaser
C  sufoe aldsrerysda, prere aemeser
D) sudleoeudp oldsrergsdle, prdrg umaser.

- How many kinds of gametes will be produced by the genotype AaCc and in what
ﬁ proportion when A and C are linked ?

A}  Two kinds in unequal proportion
.B) “Two kinds in equal proportion
C) - Four kinds in equal proportion
D) Four kinds in unequal proportion.
50. dpssauLeupniet aps srTeuphser QanlgCrrdliy s '(B&d; @u@é&&;&ﬁ)@
ggleuTeg ?
Al swe varhg Gerdhae GELYD SreurseT
B) g barhs Cersas Qelybd gremhseic
C) vl @s greughseiic
D) o val @ setanw greuyhisailes.

Heterosis is the superiority of a F1 hybrid over its parents and this can be
exploited successfuily in breeding

A)  Cross-poliinated plants B)  Self-pollinated plants
C)  Sterile plants D} Male sterile plants.

1003
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51. . gomeur et uptigy et Bbs @i-pos Caipgeurt

A)
;C]

spBTH

Gagenm

The Jarawas are tribals belonging to

A)
C)

A)
. B)
Cl

D)

Which of the following is correctly matched ?

A)
B)

ye

D)

53. &psacdoiL eunsdlubseers Heual :

Tamiil Nadu

Kerala

usedledthum
et @ Geuflwm
srhCamGum e

ey & & @ meofhum

Puccinia
Pyricularia
Xanthomonas

Rhizoctonia

S|bE 0T eiT

Sy NyGgpen.

Andamans

Andhra Pradesh.

52. Uereumeusteupget erg sflwre QUI®BSSLLL Rereng 7

Gargewnsd Qeguiler gim Crmb
u@ﬁ,é\uﬂé&r afleo Gemil
Qeuatenllesr Glomenes

eurenpulles Qe g CHmi.

Rust disease of wheat
Wilt disease of cotton
Mosaic of Bhindi

Bunchy top of Banéna.

smbhm (A : dysells sdebsoey Jflgba@sed Curgs ouf.edr.g.
| | pehannser Causwrs pamHng.

sTyewtd (R) 2417 676G . pRbsanisheies e HDugTe GUUBTE.

&8l QaTHG AL Beirer GPiEse aped sfiurer afoLous CatpOa@ss

A}

B)
- C)
D)

(A} wdmud (R) QB peum
(A) &1, 2 errés (R) geup

(A} bbpd (R) @esorGid &
(A) Beun), SLeTTed (R}‘.&rﬂ.

[ Turn over
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54.

55.

Consider the following statements ;

22

Assertion {A) : When the nucleic acids are separated, RNA molecules move

faster.

Reason (R) ; RNA molecules are smaller in size.

Now select your answer according to the coding scheme given below :

A) Both (A) and (R) are false
B)  {A)is true, but (R} is false
C) Both [A) and (R} are true

D) (A)is false, but (R} is true.

I TEHT.q APRSHFAQBEE rriinninannnnnn,

HEN&SGogd LudTuHS)

IflsQs@ssrBdns:.

4) Qe fliyCaayen B)  ae&Crr eGuryellay
C)  arausbl GrmeeGumrBragedr D) eaaslCrnlusailcellsGaayer.
DNA molecules are separated using ........... R technique.

A)  Centrifugation B}  Electrophoresis

C)  Electroporation D) Electromagnification.
YT @,(Beﬂnsuﬂr& Qedwin’ L @ éqs'\)m

A) Blehuend) B) Gumed

C) Guomed ~D) Gumed.

Which is not the cloned sheep ?

A} Missy B) Doﬁy

C) Molly D) Polly.
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23 o PGBO
enremUIINGLmom @;uﬁé\@ Qacvash Genamgeane gresiHibd Gurmen
A). EPSP B) EDTA |
C) TEMED | | D) PEG.

The substance which induces the fusion of cells in hybridoma technology is .

Al EPSP | B EDTA

C]_ TEMED D} PEG.

@ﬁ,g&]mnéﬁ‘l@. DOWPUET ST GEODEUTE ...overeecenennes e é{é\&:mn& ............... e

Qe sreTLUED. '
. A)  gyevenmid, Gameur B) grgevgnes, Sevenrid

C)  grgevgre, epflevr o " D)  grgevger, Gegen.

The rainfall in India is lowest in ... TR and highestin ............... .

A). Assam-, Goa - B) - Rajasthan, Assam

C) Rajasthan, Orissa | D) ARaja'sthan. Kerala.

P GIHOTH SLOL WTETH ...ooveeeennnes ... Gplene BETIL D 2 (HeuTHGEDG.

A &1H : . B)  yévGieuef '

C) mem o D) umenevsuedtid. -

A lpg of wood forms a ................ .. ecosystem.

A) | forest B}  grassland

C}  micro ' DJ  desert.

.. 59,

B
4

Spasc aursdlubanens seuefl :

gam) (A) : emeve mietor@tifleefler Qg,rrgb@mrre‘n s_céernsu@._

srycoid (R) : erworeng a;efr anriQurefies 2_pupdlew giaiGeng.

&8y Q&rr@éﬁ&ﬂyn.‘.@efr@ GOiGsst aped sflurer el ows CaiheRse :

Al {A) whpyd (R) Gyas@n ef, CQuen (R) aarug (A) elpe sflute efleansanee
B) (A oppbd (R @yen@id sf, Gogid (R) asrg (A) elbe shurar aflarse

o @ e, Syenmé (R) peury

D) : (A) goumy, geme (R) sl :

' {furn over
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60.

61.

Consider the following statements :

Assertion (A} : Callus develops by infection of micro-organisms.
Reason (R) : Wound stimulates endogenous hormones.

Now select your answer according to the coding scheme given below :
A) . Both (A) and (R) are true, but (R} is not the correct explanation of (A)
B) - Both (A) and (R) are true and (R) is the correct exﬁlmation of (A)
C)  (A)is true, but (R} is false

D) (A} is false, but (R) is true.

gflurer snpenm Gg;r'r;» :7

A) 'l g opGerilugdle sramiu@epg

B) mrl e @..G’asrrmsv 8o sresiung

C) ‘mprl gfsm yEeesefie sTaoiLGEDE

D) Cuhesidlu eeuhdeyd ‘Hrl gt Gdemen.

Choose the correct statement :

A) ‘nod gene' is seen in Rhizobium

B) ‘nod gene' is seen in E.coli

C) . 'nod gene' is seen in fungi

D)  ‘'nod gene’ is seen in none of these.

A ddler Gy Crge dewrarg Bilamre @puul.@, @8y sauwrs Haalw {5]%\)(0
.................... 660t O PSHHULGHIDSI-

A)  urgsdlur B) Gerem@eure

C) ydlev D}  erQredwr.

The single agglomeration of land which surrounded the ocean in ancient past is
called

A) Pangea ' B) Gondwana

C) Tethys D} Laurasia.

[i5550]
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62. afldslley ‘anug wppid G’ [ ‘Age and Area | Cam urlgemer 2 meursdlu eumLib

)

A) 1922

C) 1942

B)

D)

1932

1912.

i Willis, Age and Area Hypothesis was proposed in the year

63.

“’c)

64. 2 0flar LU SLaNWL LbHL aluy Cgr@uy
A)

C)

A)

65.

A)

!
!
{

1903|

A)

O

1922

C) 1942

A) 1 geeufl, 1995
1 g®en, 1995
TRIPs agreement came into effect on

A) 1st January, 1995

C} 1st June, 1995

IPR

IUCN

Database on Biodiversity is
IPR

C} IUCN

ugeow L8l ereTugy
L.léGD')&LIUJ@j 2. Husd
C) soparisd 2 pubg
Green Revolution stax-lds for
Green gram prdduction

A)

Leafy vegetable production

B)

D)

,1 TRIPs spUuhgb HOL (LpeDEG eUb HTeT

B)

D)

B)

D)

B)

Dj

B)

D) .

B)

D)

B)

D)

1932

1912.

20 gereufl, 2005

1 g, 1995,

20th January, 2005

1st March, 1995.

NSF

ENVIS.

NSF

ENVIS.

Camgieow a.pusd

Sererv L4,

Wheat production

Beans revolution.

[ Turn over
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66. QaDBG BTF .o ﬁﬂ@ﬁ@-@ué}ﬂu@ﬂg}g}.
A) . searenriey Fen_eur B) eanSevady
C)  amiGargen D) oab.

67.

68.

69.

Hemp fibre is obtained from

A) Cannabis sativa B) Hiblscus

C} Corchorus D) Linum.

GCITEHE - ..oveierenee ursSSllmEhe GhGLY Y QuUDUUGHDE.

A} e | B) @&san® whoibd Gows
C)  eed D) uwajhssel.

Saffron from crocus is obtained from which part ?

A) Flower . B)  Style and stigma

C) Petals D) Stamen.

L &THNSIGhE S HseTCUATLGHENeT UTHHTSGD &hIEE e

A} UreseveusTD | B)  mgdled

C) & D) éguhq r_ﬂ]mé;a:rr@.

An ecosystem that stabilises shorelines and protects them ffom cyclones is
A)  Desert B) Wetland

C) Forest | D) Mangrove.

praute Pasde osedigoa o Csgsgss o migyuNsefd
QewsuT geer GobuLé Gelioms Gesuaurn 2epsHGprhd

A) WG 251y pGevagiest B) wQurGeuebrig
O  Cur efCrCLaer D) uGum e§&di.

Treatment of contaminated soil by drawing oxygen through the soil to stimulate
microbial activity is called -

A) Bioaccumulation B) Bioventing

C) Biodegradation 'D) Bioleaching.

.
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70. ‘GpHlene LEITLOD' TETD QUTTHESOW 2 BEUTHEWEUT ..o.pereeriennnnes yeurt.
A)  @estevee B)  entleuf
C}  Lmereved D) guu.

The term ‘Ecosystem’ was coined by
A) Einstein B) Edward
c) 'i‘ansley D)  Odum.

71. g6 Gpri uTauers, eTTa GRUNL sre sl wi @b, ulismer Syfisgd
Seralpe Caramflanrés HHCrMY Grilarprasd GerdaiLhdng

A) eaarLbé B) ealGLds&
C) evGumgirgé D) urenLifl&.

The disease which outbreaks widely, but periodically, in a destructive form is

said to be
A) Endemic B) Epidemic
C) Sporadic D) Pandemic.

72. Yeveumeiemeupmyet arg sflure Qurmphduerers 2

A oLl A — B-s@ym st
B) e Ldlar B — &CemrGymid
C)  eoeultibledn K — | auQarsweles
D)  eaulL.blér D — Qe ie.

‘Which one of the following is correctly matched 7.

A) Vitamin A - — B-carotene

B) Vitamin B — Chlorophyll
C) Vitamin K — Phycocyanin
D) Vitamin D — Lycopene.

1903 _ ' : [ Turn over
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73.

74.

75.

sflapi apdafiiie o dm rgd 2 iflu fibeflasmer Caenrameann Hlokseflc
Cerrliueng @)cueurn) e psbdlatCpmb 2

A.] GGOGOUTI.._ urrr'rL&r!'u B} GG)G&TL'- oooLﬂQ')G\‘ﬂE'ﬂ
C) 2 pur&EGDHe D} 20w S5CsCanaye.

The practice’ of disposing biosolids produced by waste water plants on
agricultural land is called '

A) Land farming B) Land filling

C) Composting " D) Biomethanation.

usew@de allmarallarrd gpub Gra® wedlu Blahaser ureae 7

4A) Yol Qeudiubwirge pHpd eupl &

B) WIT&HUBSEL HMID L{eHs: LGToTL sl

C)  em iy wbpid &rassGeT P

D) &1 cuenirges whnib Ceuenredor sir(Hael.

What are the two most common results associated with the greenhouse effect ?
A) Global warming and drought B)  Pollution and 'smog

C) Deforestation and mining D) Afforestation and agroforestry.
2 Oifter eumy gurflggedies Gurg

A)  arpfleer saureywemle Bimbas sflaser fassaiu@dleanen

B) earppeten aaumewaplie Npes sflasd Hagsaliu@alaipen

C) uwphseer afiggd _

D) arpmelen &eure weopuiley, graurs sipleyser é\mgé&DQ@aﬂs&imm.

Biogas is produced by |

A)  anaerobic degradation of animal waste

B) aerobic degradation of animal waste

C) burning of fire wood

D) aerobic degradation of plant waste.

(7553 15650
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gl euCaghismeiie ghulL et OTHPSHTTED o6 PG siflesdbe uars
G_m@r,nrr@ SBCerm pyblevid 2 BeuTeueng @cﬁc’im@ e p&dlanCpmid 7

A)  prarQisensv glefmppid B HevQessiey derwrppb

O  SICHbaflul Hetorppbd D) &uGrrGuriLni ghefwrpmid.

Miitation in the ‘genetic code leads to the substitution of one amino acid with
, .

":other.and this is known as
A) nonsense mutation B) missense mutation
C) frameshift mutation D)  promoter mutation.

wCaAum iy sden garaeiier Qump Quuirdssomigu suGsphaais GoLuBn Qumf

QuuidsiiuLrg eafleresdlynhismearer Gleueuryy SenpsdlarGorip ?
A)  aéeureray ) B) @ green
Q) N[ = D) @etrit Hlevi e

The untranslated intervening sequences that interrupt the coding sequence in

~eukaryotic genes are called as

A) Exons’ ' B) Introns

: :_C] Linker DNA D) Intercistrons.

2 pusd Gurf Cuuitsemerls upld ahs saby sflurerg 2

A)  egCur@erb mRNA g 5/ to 3/ earp feedles Qe Yysse s HfGerr
wenerllemm g -HriurdHealdl @penes Gébfre'ﬁaﬂ 2 pusdl Cleldipg

'B) eyGur@emp mRNA g 3' to 5/ erebip Hlemsulles Qéa’s‘r@ yresens siriumébend)
ipeoanilelehba SIGam o Crradl 2 Dupd Celapg '

C) @g@un@&n&) mRNA Sg 3' to 5/ eetip Hevadles Qe Urasos HHBerr
werenld@mhg ariursded weer Crrée 2-pusd Csudpg

;iD] | smr}(BLJrr(BerrLb mRNA fg 5’ to 3! eatip Flevadler Qeay Yrgses sriursed

- werardledmbg oG parar@rradl 2 Hudd Qe uding.

1903 [ Turn over
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79.

80.

30

Which of the following statements concerning translation is true ?

A)

B}

C)

D)

- The ribosome moves down the mRNA in the 5/ to 3' direction and

synthesises the protein in the direction of amino terminus to carboxy
terminus.

The ribosome moves down the mRNA in the 3' to 5/ direction and
synthesises protein in the direction of carboxy terminus to amino
terminus.

The ribosome moves down the mRNA in the 3’ to 5’ direction and
synthesises the protein in the direction of amino terminus to carboxy
terminus.

- The ribosome moves down the mRNA in the 5/ to 3' direction and

synthesises the protein in the direction of carboxy terminus to amino
terminus. '

Fpbeciaubpst sflure GLTmbgug eg 2

A)  uml — \DITRISTE

B)  aes —  figev

C) Gaflurtdlev — -yl

D) Qamnevuifiguid — Gemumie.
Which one of the following is correctly matched ?
A) Pod f— Mango

B)  Orange — Citrus

C) Caryopsis — Rice

D}  Hesperidium - Soybean.

Spbaa. aumsbdluksamerd seuef :

Sabny {A) v ollevs @ Ceaflpgy aaibe Qe i sfl Lusu@ding.

sryewrd (R) : sflureig Qﬂme&ru.nj)g) 2 Miepdlures Qawdul @ Sogsmamer Coris

QsThprie LTESTEEIDS.

B GaTRssULBeTer GHRse wed sflurer dleLeows CotbEeHes :

A)
B)

Q)

D)

(A) whps (R) Guam@e &f, Gogib (R) aatug (A) alpe sflurea aferésd
(A} wppie (R) Gyesoi®d ef), Cugyd (R) erestug (A) aSibe sflumes aflerdaiode
{A) efl, syermés (R) geumy '

(A) seum, 3y eTTen (R} .
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Consider the following statements :
Assertion (A) 1 Activated charcoal helps in the storage of seed germ plasm.
Reason (R) : Charcoal is an inert absorbent which can disinfect seeds.

Now select your answer according to the coding scheme given below :

A) Both (A} and (R} are true and (R) is the correct explanatién of {A)

B) Both (A) and (R} are true, but (R} is not the correct explanation of {A)

'C)  {A)is true, but (R} is false

D) {A}is falsq. but (R} is true.

iflend Sl HivGestrsvGiiid oueD s

A)  emesTay Glyeueium B)  emblur edbur

C) @D-gduausr‘v Sonleord D)  auerav grréssfuq;rfé?. |
The smallest gymnosperm known is |

A)  Cycas revolute B)  Zamid pygmia

C) Cupressus sp. D)  Pinus r-oxburghii.
QAL reoul Raer KengGureou Gaefletamy Camuioug wrolgeid
A) @rbdGuwd adlibg

B)  wrihp eurphens swidl / shadl wrHod

C) gf&fCameiiun

D)  euréugenit dla.

Pteridophytes differ from bryophytes in having

A) matile sperm B) a,lteraudn of generations

C}  archegonia . D} vascular tissue.

i Turn over
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83. ‘eoLwrLfler e QUT BT ageiTed alamearflpg 7
A) &BenGymenuediCu B) QGuedléveuremuediGu
Q) enesiCamrenuerSiGus . D) @UWGLWmua&(Bw.
Diatomin earth is a product of
A}  Chlorophyceae B} Basﬂlariophyéeae
C) Xanthophyceae ‘ D)  Rhodophyceae.
84. urdlé agpgene cuans: Q8 HU L DU 2_areng 7
Al gD B) Qe
C} ey D) pred®.
How many type(s) of cellular organization is / are found in algae ?
A}  One B) Two
C} Three ' D) Four.
85. eumy| LRI e bLFRenet HlavaliLGsgibd o uiflenb
Al usems T B) Seuly syceem
C) Mev-usiburdl B D) menesiiu oyaT.
Nitrogen fixation is done by
A) Green algae | B) Red algae
C)  Blue-green algae D) Micro algae.
86. &psaadiL aurbdlutiaamers sae
sapml (A) : PEG yGpri Gumlenmeul Géd’é&m&.smuj 2 dGaNH@D.

srgeid (R) : erewsl Coriyegest PEG &© ugle uweiuLé argeeid PEG §é
LGy GLmienrevl. Sphs lPHpa.

&G CarésuuRsirar GPMWIPset cpeaid sflurer aloLawg Caibblsdes :

A) (A) whpid (R Goao@d afl, Quaud (R) eerug (Aj aYbe sfuren allersaween

B) (A) vppd (R) Gyeaa@d &fl, Guaid (R) arerug (A) eNbe sflurer allendaid

C) (&) s, syeme (R) seup

D (A seuny, gueore (R) el
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Consider the following statements :

Assertion (A) : PEG is used for inducing protoplast fusion.

Reason (R): Electrofusion {s used in the place of PEG because PEG kiils

isolated protoplast.

Now select your answer according to the coding scheme given below :

PGBO

A) Both (A) and (R) are true, but (R) is the correct explanation of {(A)

B) Both {(A) and (R) are true and (R} is not the correct explanation of (A)

C) (A} is true, but (R) is false

D) (A} is false, but (R} is true.

&pé e etioTL éatorm s eoL. UpPu sahpsails sflubnemey ereeu 2

A) @@ eurpdlein CFsenTer T

 B) @ sragsdet w2 Henerew 2 (HaTSHGLI e

C)  @ew D wrearee

D} @ &b whpb Gyfldiaamen 2 o wemeu.

| ‘Which of the following is incorrect for heart wood ?

A It is made up of living cells

B) It forms central cylinder of plant

C) It is solid

. D). It has gum and resins.

88.

éue.tsﬂe‘\:sun. Geubdielpha GupLUGHDE

- A) Feoflg e . B) QGeufmel

Q) pam@ee D) yseer.

Vanilla is obtained from

A) fruits _ B) roots

C) stems D) flowers.

{ Turn over
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89.

90.

91.

34

Quibems spUTd QEdlBHa GuUDULGSDE.

A)  dereorQumod Cab@umgm B}  dlerarGumon eapenreflésd

C)  dlareorComwib Liomeor D) @eupmist ergapfldvene. .

Natural camphor is obtained from '

A) Cinnamomum camphora B) Cinnamomum zeylancum

C) Cinnamomum tamala D) none of these.

gy 7 OoedT eredTLIg -

A) QuAiQLii B) uleL

C) Qe &L : : D) sygearslen.

Duramen is }

A)  Periderm . B) Bark

C) Sap wood D) Heart wood.

Spseaivi eursdubsaend seue

abhp (A) : g.lg-g.g sevmaurayg safl wbopelear et afameraesanen
 BLAULGSIFDS.

sryeoid (R} : gllg gpédosars Qewdufastia gefluynd fl.g ab B-alu I &

Hene Qeuefilupsoen Jgwdsdng.

By Qar@ssiuPerer @diBser apad aflurer alloLoug CathoBOss :

A)
B}
C)
D)

(A) whgb (R) GremGi &fl, Quepid (R) eretug (A) alpe sfurer alenéab
(A) wppid (R) Grass@d &f, Cueud (R) eradtug (A) allhe sflures eSlen & 5w een
(A) &fl, yyerred (R) peup) -

{A) saum, e (R) afl,

Consider the following statements :

Assertion (A) : ABA-GA combine can regulate after ripening.

Reason (R):  Light/GA permits over expressions of B-alu I where ABA acts as

a synergist.

Now select your answer according to the coding scheme given below :

A)
B}
C)
D)

Both (A) and (R} are true and (R) is the correct expla.nation'of {A)
Both (A} and (R) are trué. but (R) is not the correct explanatioh of (A)
(A} is true, but (R} is false

{A) is false, but (R} is true.
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agyfléame, QurEhs uenaLl Lphiserend graeh Crmisdlgnid
A)  erarGarCuomrerrey wraGauedluryd
B) erarCarQurentey srwGlusu ey pv. S
C) erarGarQurermev Hifl |
D) enarGenQumermey smibueul flav pv. bré@euedwmyb.
The pathogen infecting the citrus fruits is
A)  Xanthomonas mah)aceanun
B) Xanthomonas campestris pv. Citri
C) Xanthomonas citri
D) Xanthomonas campestris pv.malvacearum.
af@é,&n@jm SapHpiseneT Heued
L Gorb o meurgd eTeiTLIg) (Bg;rfd;é,aﬁ]@tﬁiuﬁlsﬁr Ggﬁnqcﬁm@um@m AT T
. Gprb emeargd asiug Cprusflipdl sragbsele meopadadnhs
w5S Cpmi sfled Carampid cweny gHUGD Hlapeaset
IiI. G_fr,rrtb a_(r_r,mng,éu erettugl CrrisH S cuarfamsd GHH@D
V. Gpmi 2 Geurge eredugy Gmmil uu;rcqg,eorr@fb'.
@lsumayst
A) L, I vhpd I sfureareneu B) lopgd II eflurerene
C) | 1L, Il wpgio IV efluremeney l D) L II, Il wpmd IV aflurearaey.
Cdnsider the following statements :
I.  Pathogenesis is the ability of pathogen to cause disease.
I Pathogenesis leads from entry of pathogen to the outbreak of first
disease symptom.
III. Pathogenesis is the development of pathogen.
IV. Pathogenesis is disease spread. |
" Of these :
A) [, Il and III are correct - B} TandlIl are correct
C) 11, I and IV are cérrect D) | I, II, Il and IV are correct.

|F704| [1908] [19000]. [ Turn over
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94.

Spseravumasdie @a srapisals Cpmis Apdes gopyd Gubsrs aif
DjEuey 7

A) Elowg GEeast ' Bl Qe Qeduaal
C} Garpgraiser | D} sreuyhsefle gHudid Lyemeel,
- Which of the following is not the natural way for the Pathogené‘ entry inside the
host ?
\{'-\] Stomata "B)  Lenticels |
C) Root hairs D) Wounds of plants.

95.

96.

srouy Cumiluedé e Burevgdlenw SLyodiNHseurt
A gy ereiv. b B) &t Gané
C)  eumedst Qit Cenmedtd D) Q. ghl. emireume.

The founder of epidemiology in plant pathology is

“A) R. 8. Singh B) R. Koch
C) van der Plank h D} J. G. Horsfall.
&@&8ar HCurQmeNadien .......ccccoene Bl& peur@io.
A) ysedldlyeam : B)  smhbleor
C)  seliCLigsis D) fégen.
Gluconeogenesisis a .....cooveeienennee . process.
A)  aerobic ‘ B) anaerobic
C) oxidative D) reductive.

97.

Quyeu_Msagetr Gmmureg
I ECOR 1
II. BAM H1

.  VAMII
IV. PAM IIL
E\eubiyet :

A)  Twhpd I efurerg, I whmb IV seupresg

B} Twpgo I eflurerg, T wpoie TV sflurearg

C) Iwpmo I sflurerg, I whod IV seuprerg
D} llwppe IVedlureng, I vpribd 1 seupreng
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Restriction enzyme includes :
L ECOR 1
1. BAM H1
HI.  VAM I
. PAM IIL.
Of these

A) I & 11 are correct, III & IV .are wrong
B) 1 & I are correct, 111 & IV are correct
C) I &I are correct, Il & IV are wrong

D) I & IV are correct, [ & II are wrong.

‘Badfide o_sier CarLisesr paeurpelpe ghurL gaustgrgr S pder o

LRIE

A ydu Haopsaer Geul e

© Bl pLOTHD bmdHgen Ceeneu

99,

Cl oGO0 ambGashE G ULPRIGSE
D} 2w efleury surfléaeh oy amasamen Blipase.
The Jeevandhana Scheme iri the Nilgiris for Toda welfare involves

A)  digging new wells B} mobile medical services

~C)  providing loans to buy buffaloes D)  setting up of biogas plants.

Osidedwaauresaida alasm wpeop Guarml e pdelnBin

A) g orpm ulifepenp B) yarésr{H ulitepemn

- C) gOb ulitgpep D) galy udfgpenp.

 The method of Agriculture practised by Kolli Malayalis is called

A) Shifting Agriculture B)  Punal Kadu Cultivation

C) Jhum Cultivation D) Intensive Agriculture.
190001 ‘ [ Turn over
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100.

q.erebr.g Wt @yl igillés erps Lk eu@e'w:rrg; Qprd

A) | 1g..67657.6 QaneiisGae | B) y.erébr.g. ureliCulren

C) g.eén.g. oalae | D) g.&eng. aﬂmm@@&mﬂ@méu.
The enzyme that has no role in the replication of DNA is

A}  DNA helicase B) DNA polymerase

C) DNA ligase D} DNA glycosylase.

101.

102.

Qerumaurear g a6@1.g. G lubes apellomer 2 o wg

A) A-DNA . B} B-DNA

C) D-DNA D} Z-DNA.

The form of DNA that has left handed helix is

Al  A-DNA . B) B-DNA

C} D-DNA D) Z-DNA.

arlevest wpmib Hflsdar g .aer.g. Qriesameile erplygmes Bol (s
QurpeTaensd ( gl Ly s@pée ) BloLCu 2 eier gmyb

A 824 | Bl 20A

C) 34A D) 34A.

103.

The distance between the bases, the step height in Watson and Crick DNA helix
is

A) 824 . B) 204A

C) 34A D) 34A,

Bleupdies erg Gaygy e L@ e &etor Ul @b Uty Sjdoen 7

A)  CurgwseEpL e srenons LpGsd B)  Gubur® &mLQwﬁ Lx&mqasﬁ

C) edouras &eurréérrgfo D) yallwé gswﬂembﬂau@g‘,gjg,_é).
Which of the following is not a characteristic of ldenMg a scheduled tribe ?
A)  Free contact with public B}  Primitive traits

C) Distinctive culture D}  Geographical isolation.

(1559
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gl oL yesapré aedip urEeTu@h edshGenr G\usm_rrmgma.wrr solNeomeit gliF e
cuemeTLD, Qpenet Sladhaelld HTILIEGD R

A)  sraiCurameneel B} QufuCirerev@met
C) gCamefiLmé D) GQaredugrme.

..................... is a cyclopentahydraphenanthrene ring which means solid bile

- alcohol, seen in brain tissues,

105.

106.

107.

A) Gangliosides . B} Cerebrosldgs

C) Inositol : _ D}  Cholesterol.
‘arrc&m(.‘?l_rra:ﬂa'sr‘ TSI Ls@[bﬁl .................... wersefedmba CLpliLBdps.
A) J{GGWT afyr B) QCeradlud HGCLmbGeores
I-C) cgrhw.é’lﬂwrr witg.om | D) U Crrur GueewCLmevrr.

The drug Santonin is obtained from the flowers of

A)  Aloe vera ' B)  Colchium autornnale

C) - Artemisia martima D}  Atropa belladonna.
UBIDIT ..ooviivreneanenne + 65T [J&DTEID.

4A) el - B) w&srGememd

C) ofi& D) Gamrgeow.

Padma is variety of

A) - Miljet B) Maijze

C)  Rice. D) Wheat.
sTTCUTenaDl Gl SUEIBD ...ocveeneerec. & 2_eleng.

A) . umied B) syfid

C) w&eTsCamend ' | D} Gamgesio.

Richest source of carbohydrates is
A) Barley . o B} Rice

C) Maize D) Wheat.

| | | [ Turn over
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108.

109.

110.

2.6t Hleophs Germwd ereTug

A) ySemmuorerg Gesdo.f esangdayst sraoOLGag

B} yGemuwrerg Jejufl eeegdguer sraoiu@eog

C) yGemmuwuwrerg Vs ugddle aramiu@eas

D) yBemmuwrerg ypemiy gl sreaiu@eals.

Included phloem can be defined as

A)  phioem present within the secondary xylem

B)  phloem present within the primary xylem

C) phloem present within the pith region

D)  phloem present within the cortical region.

Eyresien cuans 2 eieTewly ST eTliLfeus)

Al C g gmeunid B}
C) CAM gmeugid D}
Kranz type éf anatomy is found in

A C,plant B)

C) CAM plant - ‘ D)

l.ﬂsbrcu@Lb arsdunsafe sfluraiems Caits :

C , sreugh
C, sreurib,
C, plant

C, plant.

A)  euemd (Skoog ) eretucut aatsele Gaudll QureLsefldr weob 2 gy

2 pupdleow s QUUESS WIRYD e snrdler

B) @pidl@s ( Murashige ) esstuent ppgarupsede Cougly Qurml seflar apeud

2 My 2 pusdlew s EULESS WPYD ety Sadletmt

C) Gunf ( Torrey ) erebruauit wpaarwpaalsr Geudll QU L &eNaT ppeod 2 mitiy

2 Husdlew sLOUUGSS QYD ereTm) Sadleoni

D) Gurges ( Morel ) eraucui paerapgedies Ceugly QummL sefedt cpevd 2 myiiy

2 hupdleow sl OUUESES PRUD ereTyy FndleTmi.

{1903] 19000
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" Find out: thé correct statemmt :

.'iA)

B)

ivg

C)

:D)'

Skobg was the first to say that organogenesls can be controlled by

,.chemicais

Murashige -1§ras the first to say that organogenesis can be controlled by

chemicals

Torrey was the first to say that organogenesis can be controlled by
chemicals

Morel was the first to say that organogenesls can be controlled by
chemicals. ' ' '

111. RFLP erébrugy

A}

B)
C)

D)

geflu urs wrdf gesm_ b

" Qe féayes. fer 2 (BLTHD HeTLD

LITELIGIT DT LT Gietari b

@eubyetr ergiayiblevency.

RFLP stands for

A
B)
Q)

:D)

Reference Fragment Little Protein

" Restriction Fragment Length Polymorphism

Random Fragment Length Protein

None of these.

112, eHOMNL. Qewellene a_soLw whs yrslurweilar cuems

Al

C)

QLG melr . B) eauGumges

Orprd D) egiQurmen.

The kind of inert proteinaceous substance having specific function is

A)
C)

i
1903

Peptone ' -B) Bictin

. Enzyme D) Antibody.

‘ ) [ Turn over
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113.

114,

ggmedl |1, U@ o 2 QerakL 6o Guadlae ugeudla Yuted wrid
Al B,;=3 B,=07v,=0 7,
B) B,=0. B,=3 7,=0 v,
C) PB,=0 B,=0,7,=0, v, = 3

-3

0

D) p,=0 B,=3, 7,=0, v, = 3.

Pearson’s constants for a normal distribution with mean p and various g? are

A P,=3,B,=0v,=0 7, = -3

B) P1=0 By=3.7;=0, 7, =0
C) B,=0.B,=0 7,=0 7, =3
D) B,=0, B,=3, v,=0, v, = 3.

8w wepemeansd GClaTeaoL b @}.@Qmm Qg’me’u @beurp Syepéelu@D ?
4  yeNGoré / gheop wrdf B)  euGoriéd /GrleL wrdfl
C) LegQGurié / apibwrHif D) gGom e/ wr @iflifidoeor.

A frequency distribution having two modes is said to be

A)  unimodal B) 5imoda1

C)  trimodal D) amodal

115. eveumph aunsfukhiseer seued

L o Nflueflé o eien QprLiy QsreluusSar® eripGlug -
asUTOBL ISy '

I mareywifiseie 2 aign Qerity CareuysGear( sripSlGuug
@ FUTGIHLI &6

M Qupssde o eaer GQarety QareuysCear® sriheuug

e Ut QIpL1g &ev - |
IV. saflaflas wppab 2 eer Qgrify Q@relysearr@ arn’r;bﬂ@ﬁlug
snguTGIBL.Iq &6,
@eubmuen :
A} TwlEd sflurerng B} Iluw @b sflurerg
C]  IVol@o sflurears D) @@ﬁ)@eﬁ s gioyiidianss.
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Consider the following statements :

116.

L. Cybernetics deals with communication systems in biology
Ii. Cybemetics deals with communication systems in microbes
Hl. Cybernetics deals with communication systems in nature

IV. Cybemetics deals with comnmunication systems through computers.

Of the statements
A) I alone is correct ’ B) III alene is correct
C) IV alone is correct D) None is correct.

a?gpéw:dwu amsbdutisenens souef

sty (A) : Bt 2 Pghagedle ‘@boules ao s,

&rriljaumm» R : @8 Qemwﬁ)p B 2 Pgepe. Qedey mm.'.l.&;é]c&r Sig LiuenL e
| Blepalng. |

Q8 Qanrpssiul Geren @iGsst apen sflurer aloowg CotbOsHEs :

Al (A) wpgr (R QoG ofl, Cuogud (R) erenugl (A) ellpg eflurer afleréaid

B) (A wppb (R) @rf@hr@tb aifl, Gueuis (R) sreituigs (A) e9pe sfluren allenaswde

O A oppi (R) Gt paip |

b] (A) &), syermen (R) eumys.

Consider the following statements :

Assertion (A) : Imbibition is the phenomenon of absorption of water.

Reason (R} :Imbibition is the passive absorption of water along a
concentration gradient.

Now select your answer agcording to the coding scheme given below

A) Both (A) and (R) are true and (R} is thie correct explanation of (A}

"B}  Both (A) and (R} are true, but (R} is not the correct explanation of (A)

C) Both (A) and (R) are false

D) (A) 1s true, but (R} 1s false.
[ Tum over
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117.

118.

MSSRI eresiug)

A)  eb. ere. seurblprset SLgTLEd BHineietd

B) Oedienen gflaiue gmisd Hipeustivered
C)  (A) whygd (B) Gyei®id

D) @eubmpst ergablévene.

MSSRI refers to

A) M. S. Swaminathan Research Institute

B) - Madras School of Scientific Research Institute
C)  both (A) and (B)

D) none of these,

sefipg Uflge Blopey erebiug

A) . euentédlflen Gy Hlever Qeuefliur@

B) seudldr Gurg ¢ty @ngémwﬁsmﬁlé\) QleuE Cgraaaie 2 e P1aande
Song CGapult &Crlunlsrbag Gam pooL Qupshsngy gleraEnHe
@eoL Cuuren QgmLiupy uborhob

C) galarg gasagd goflggall Gruseala GeoLilown APTREAPY
sreTin@Snsg

D) ygsb whHpibd 1§ .eredT.g. @@&&Q}&ﬁ.gfﬁj&@&@ﬁ GQgrLidlenes ghupss oGy

edigwresr Gladelid aremlu@ding.
The phenomenon of ‘independent assortment’ refers to
A}  expression at the same stage of development

B) unlinked transmission of genes in crosses resulting from being located on

different chromsomes, or far apart on the same chromosome
C] independent location of genes from each other in an interphase cell

D) association of a protein and a DNA sequence implying related function.
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T 119, ulgué I g uligqué oo ey Qurmsd, #Qp Qan@aaiu’ Qerer eOdGamens
Qarwor® sflurar allenL.coug Catbogd : '

a)
b)
s c)
d)

@ﬂuf@&er;r :
a
' A) 1
B) 2
. € 3
D 4

uCgue I
evdleiy eremaiom
g euld
yGermuln
GuoflévL_o

b c d
4 3 5
5 4 1
1 2 4
2 5 3.

ulgué I
1. Bt sLp@pe

» 2. a0 SLEHIHH
3. euguglL b |
4. Qed SRz
5.

SHTTUEST SETOWN & SLUL 6.

Match Lisg I with List II correctly and select your answer using the codes given

below :
a)

' b
c)

d)
Codes :
a

A) 1
B) -2
c) 3
D} .4

List I

( Plant tissue )

Sclerenchyma
Xylem
Phloem

Meristem

(S - 5

A N & W 0
Pt

List II
( Function )

1. V Conduction of water
Transport of food
Mechanical strength

Cell division

I

Carbon assimilation.

[ Turn over
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120. anrgses fdurer LlN@sase olausrdamée srou@h allagaer

A)  srepeflssiul L ellagser B} aigss fhurer alompast
C) eubsssan Oafps alleossst - D) Jfit edengseh. |

The seed supplied to farmers for commercial cultivation is known as

A}  certified segd .B) commercial seed

Cl  pedigree seed D)  Dbreeder seed.

121, uiguwe I @ ulgued M2 L Quresdl, £Cp Qar@sstul Gerer @hlu@asmens
Qare® sfurer alen_owd CoibGs@ : o '

uigwé I _ ulgué I
a)  Slu ugeTD 1.  eowslrreuentiy
b) er&evienet 2. elraldsd
c}  @e@Tgywenesey 3. eumfL :
d) &mé 4. Gl @aieni sT&HED.
DG aer
a b c d
A} 2 1 3 4
B} 4 2 1 3
Cy 2 1 4 3
D) 1 2 3 4,
Match List I correctly with List II and select your answer using the codes giv
below : o
List I List I
a) Vernalization 1. Micropropagation
b) Explant 2. Chilling seeds
c) Intumescences 3. Wart
d} Gall 4. Attack by parasite.
Codes :
a b c - d
A) 2 1 3 4
B) 4 2 1 .3
C) 2 1 4 3
D) 1 2 3 4.
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123.

124,

47 _ PGBO
allegyesn 2.p&sb ghuL &myed
A) wgﬁugﬁ: WHED Uy Hempwrs alleng 2 b
B) easpeaisssdpere suet closusnn 2 eren
Ci alemgyempiiléy eueTigen Gl mL&6fr
D) afensyeplies o efen Seorméuae.
Seed coat dormancy is mainly attributed to
A)  impermeabllity of seed coat to the entry of moisture or gas
_B] mechanical resistance of seed coat to swelling of embryo
C)  presence of germination inhibitors in the seed coat
D}  presence of phenols in the seed coat.

e TG QBTWIY Sblonsoas Cara® dDed Cupns Cemeier

QPIQWITS.. :

A)  qpemer _ B) aflgCrmensl.Bsen
C) suflaré Qu@der D) @ea Sjaeisaibd.
i cannot utilize fatty acids for energy requirement.
A)  Brain B)  Erythrocytes

.C)  Adrenal medulla D]‘ All of these.

uigwd I o ulgud Mo L& Qurgsd, £Qp Qearpsai @eiar @RlUlGamens
Qaraoh sflurer allancows Coirbs® :

Ll g I ‘ ugwéo IE
a). UYerells 1. e CyrCumhgen
b  geserdl 2. gCeuvrIfermi@®
o) - uidenmu® 3. <nCrreue
d) dleoalsraeu® 4. Soenmrallemiig.
ePSQeer
| a b c d
A) 4 3 2 1
B 3 2 1 4
c 1 2 4 3
D) 4 3 1 2.

[19000] | [ Turn over
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125.

126.

Match List I correctly with List II and select your answer using the codes given

below :
| List I | List II
a) Phenolics : 1. Strophanthes
b)  Alkaloid 2. Isoprenoid
c} Terpenoid 3.  Atropine
d) Glycoside 4. Flavanoids. X
Codes : .
a b c d
A) 4 3 2 1
B) 3 2 1 4
C}) 1 2 4 | 3
| D) 4 3 1 2 .
&BUY HOHG sraoiudn HeNERET aa&TUG .oovvrereeaean, ereTOU@D.
A} senenGaremen(d ‘ B) 0Qenelenmii®
O  Guidemi® D) %'mmrrm@.
Sinigrin is fouhd in black mustard which is a
A)  glycoside B) flavanoid
C) terpenoid D) alkaloid. ’

pelerr grés weEpeTe ferulldr gurflss LwETL@ID STeuD | .
A} srpsgrpgeav Cyméluev B)  greectSlur Gl Gluesig eorm

C) G rCansdlur @eatrgssr D) ebleflssm syoollflermaldis.

The modern tranquiliser called reserpin